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Vertical distribution of temperature (T, ◦C), S, 



𝑦 = 𝑥 − 𝑧
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• Фактические
• Смоделированные
• Без притоков
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Дифференциальное уравнение теплового баланса участка реки:
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S = const, T = const

S = const,𝑻𝟎 = 𝑨cos(𝝎𝒕)
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Неустойчивость!

𝑇𝑋=𝐿 = 𝐴 cos 𝜔𝑡 −
𝐿𝜔

𝑢

dt = 600 сек. = 10 мин.
T=const 
Q=const

T=Acos(ωt)        
Q = const

T = const     
Q=A cos(ωt))

T = A cos(ωt)        
Q = A cos(ωt))



𝜕𝜏

𝜕𝑡
+
𝜕(ത𝑢𝜏)

𝜕𝑥
= 𝐻𝑠𝑖 − 𝐻𝑠𝑟 1 − 𝑆𝐹 − 𝐸 − 𝐿𝐸 − 𝐻
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• 𝑰𝟎

sin ℎ𝑜 = sin𝜑 cos 𝛿 + cos𝜑 cos 𝛿 cos 𝜃

𝛿 = 23.45 sin
360

365
𝑑 − 81

𝜃 = 15(𝜏𝑜 − 12)



𝐸𝐴 = 𝜎𝑇𝑎
4 𝑎1 + 𝑏1 𝑒

𝐸𝑆 = 𝜎𝜀𝑇4



𝐿𝐸 = −𝜌𝑎𝐿𝐶𝐸|𝑉2|(𝑞2 − 𝑞𝑠)

𝐻 = −𝐶𝑝𝜌𝑎𝐶𝐻|𝑉2|(𝜃2 − 𝜃𝑠)
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